4- Subtraction of Smaller Numbers

Subtraction means taking away a number from a larger group. The
symbol of subtractionis ‘=’ (minus).

8—-6=2.ltisread as 6 subtracted from 8 is 2 or simplifying 8 minus 6
is 2. ltisalsoread as the difference of 8 minus 6is 2.

The number which is to be subtracted is called subtrahend and the
number from which it is subtracted is called minuend. The answer is
known as difference.

Minuend
—2 —— Subtrahend
4 —— Difference

Properties of Subtraction

% When 0 is subtracted from a number, the difference is the
number itself.
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<+ When 1 is subtracted from a number, the difference is the
number justbefore the given number..
7] - 1] - 6!
<+ When a number is subtracted from itself, the differenceis
0.
— — 0
6! - 6! - 0!
( To Write Numbers in Columns and Subtract
Subtractlon without Borrowing
First take the bigger number. Write it above the smaller number.
Then, subtract the smaller number from the bigger number.
46 78 <«— Bigger Bigger —— 86 43 75 98 <«—Bigger
7 8 8 6 9 8
- 4 6 - 4 3 - 75
3 2 4 3 2 3
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A. Subtractthe smaller number from the bigger number.
1. 54,68 2. 32,85 3. 53,22 4. 27,15 5. 76,86

B. Subtractthefollowing

7 6 69 6 7 5 8
5 5 -2 1 - 4 3

-5 3 -4 8 -

@F %ag K

In subtraction, the smaller number is always subtracted from the blgger
number.

< We always write the bigger number above the smaller number m
subtraction. :
.Word Problems

Example I : Tanya took 43 beads from a box of 86 to make a
necklace. How many beads are leftin the box now?

)
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.. Solution
Number of beadsin the box ——> 8 6
Number of beads Tanya took — >— 4 3
Number of beads left — > 4 3

Therefore, 43 beads are leftin the box now.

Example IT : A book contains 67 chapters. Shobhit has read 45

chapters. How many chapters he still has to read?

Solution :

Number of chaptersinthe book — 6 7
Number of chapters Shobhithasread—>—- 4 §5
Number of chapters left — s 2 2

Therefore, 22 chapters Shobhit still has to read.

“ ¥ Exercise m

Solve the following word problems.

1.

In a bag of 68 fruits, 35 are peach. How many guavas are there in the

o7

Numberoffruitsinthebag ——
Number of peach — _
Number of guavas —

In a garden there are 88 trees out of which 46 trees are cut down by
wood cutter. Find the number of trees left in the garden?

Chirag has 92 rupees. He lost 38 rupees. How many rupees does Chirag
have now?

Sumit got 82 marks in a test. Payal got 73 marks. How many more marks
did Sumit get than Payal?

Rajan bought 38 mangoes. His sister ate 16 mangoes out of them. How
many mangoes does Rajan have now?
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<, Regrouping of Numbers

Sometimes, when you subtract, you may not have enough ones.

Then, you have toregroup 1 tento 10 onesand add them to the ones
column.

For Example :
36 = 30 + 6 = 3tens + 6ones
Let us write “1 ten” as “10 ones”.
3tens + 6 ones = 2tens + 16o0nes

< i/ Subtraction with Regrouping
Example III : Subtract54from 62.

Solution
Step 1 : We subtract the ones first. But we can not subtract 4
from 2. Let us regroup 62.
Now, 62 =6tens+2ones=5tens+12 ones.
Crossout6inthetenscolumnandwrite5.
Then, 12 ones—4 ones=8ones.
Write 8 inthe ones column.
Step 2 : Then, subtractthetens. 62
5tens—6tens=0ten - g g

Write Ointhe tens column.
Therefore, 62—-54=8.
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.‘ ¥ Exercise m

Subtracteach ofthe following. Regroup the numbersifneeded.

S 70 B 7 0 BERENN T 0 BN T 0
8 5 7 4 5 5 6 3
- 5 7 - 5 8 - 3 7 - 2 6

Sl 7 O BERS T 0 BN 7 _0 BN T _O_
7 6 9 8 8 3 4 3
- 4 9 - 7 9 - 2 6 - 1 8

Comparing with the help of Subtraction

With the help of subtraction, we can compare two numbers and find
out by how much one numberis greater than the other.

Example IV : Veenu has 17 dolls and Daman has 23 dolls. Who has
more dolls and how many more dolls does she have?
Solution :
Veenuhas —— 2 3 dolls.
Damanhas —— - 1 7 dolls.
Veenuhas 0 6 dollsmore.
Therefore, Veenu has 6 dolls more than Daman.
Note: We arrange the bigger number above the smaller number to
find the difference.

.i ¥ Exercise m

Solve the following word problems.
1. Ritika walked 76 steps to the gate and Sonam walked 54 steps to the
same gate. How many more steps did Ritika walk?
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children. How many more children were there in section 2 A?

3. Sakshi picked 94 flowers and Shweta picked 63 flowers. How many more
flowers did Sakshi pick?

4. In a basket there were 37 grapes and 14 oranges. How many more
grapeswere therein the basket?

5. The cost of a jacket is ¥ 84 and the cost of a jeans is ¥ 68. What is the
difference of cost between jacket and jeans.

( ) Checking Subtraction using Addition

Example V : Subtract 26 from 52 and check the answer.
We need to regroup 52 as we cannot subtract 6 from 2.

On taking 1 ten from the tens column, we get 4 in the
tenscolumnand 12intheonescolumn. T 0|

12 ones—6o0ones=6o0nesand 4
dtens—2tens=2tens - 2
Therefore,52—-26 = 26. 2
How can we check, whether thisansweris correct?

12
2
6
6

The methodissimple.
We will add the difference of the two -

numbers to the number we subtracted. So, 1
weadd 26to26. Theanswerwegetis52. , 5 ¢
So,oursubtractionwasdonecorrectly., 5 2
v If 98-61 = 37then6l+ |37 = os.
v If 72-38 = 34then38 + @ = 72.
v If 20-18 = 2then18 + 2| = 20
A Gateway to Mathematics-2 45
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A. Fillintheboxes.
1. If 54-27 = 27 then | |+27 = 54
2. If 62-38 = 24 then | |+24 = 62
3. If 99-88 = 11  thenss+ | l= 99
4. If 55-26 = 29  then26+29 = | |

5. If 38-24 = 14  then24+ | |= 38

B. Subtractand then checkyouranswer.

L s

Addition and Subtraction

< While solving word problems, sometimes it is not clear whether
we have to add or subtract. If the question is in the form of “How
many are left?” or “How many more books or toys are ....?” itis a
subtraction sum. Out of a total number of things, if the number
of one kind is given and the number of the other kind is to be
found out, itis also a subtraction sum.

~
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< Addition sums generally ask questions like “What is the total
number of ....?” or “How many in all?” or “How many ...

altogether?” etc.
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As you solve more and more word problems, it will become
easier for you to identify the addition or subtraction sums.

Read and follow if we have to add or subtract.

1. Priyanka had 86 sweets. She gave 68 to her sister. How many
sweets were left with Priyanka?

Thisis a subtraction sum as the question asked is “How many are
left?”

2. Pradeep bought 70 oranges and his brother bought 48 oranges.
How many oranges were there in total?

This is an addition sum as the question asked is “How many
altogether?”

3. In a village there are 96 people. If 52 are adults, how many
children arethereinall?

This is a subtraction sum, as out of the total number, the number
of a certain kind (number of adults) is given. We have to find out
the number of the other kind (number of children).

Solve the above sums here.

8 6
—| 6 8 + —
Answer: .......... Answer: .......... Answer: ..........
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Read the word problems carefully and decide if we have to add or
subtract. Solve the sums in your notebook.

1.

(48

q

Sandhya wrote 53 pages of a copy in the morning and 21
pages in the afternoon. How many pages did she write in
all?

In a class, there are 87 students. Of these, 57 students are
boys and the rest are girls. How many girls are there in the
class?

Shanu has 53 books and Sudeep has 28 books. How many -
more books does Shanu have?

In a tree there are 69 yellow mangoes and 53 green
mangoes. How many mangoes are thereinthe treeinall?

Bhavik has 43 video games. His sister Bhawna has 28 video +
games. How many video games do they havein all?
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Points to Remember * -
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> Subtraction means takirig away a number from a larger group.
The number which is to be subtracted is called subtrahend.

The number from which itis subtracted is called minuend.

When 0is subtracted from a number, answer is the same number.

The larger number will always be above the smaller number, in
subtraction. )

2 ¥
(Y

A. Multiple Choice Questions (MCQs)
Tick (V') the correctoption:

1.

2.

3.

4.

The answer of subtractioniscalled........................... :

(i)  minuend (ii)  subtrahend

(iii) difference (iv) sum

When zerois subtracted from a number, the differenceis.............. .
i) 1 (i) numberitself

(iii) zero (iv) noneofthese

39 subtractedfrom85isequalto.........cccccevuennn...n. :

(i) 124 (i) 36

(iii) 46 (iv) 64

46 subtractedfrom97isequalto........cccccceevvennnn... :
(i) O (i) 51

(iii) 61 (iv) 143
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\,5 B. Writeinthe columns and subtract.
1. 86-35 2. 94-68 3. 99-66

0

C. Fillintheboxes.

1. 5tens+13ones= | ltens+ | lones
2. 7tens+180nes= |_ltens+ | lones
3. 6tens+250nes= |_ltens+ | lones
4. 6tens+38ones= | ltens+ | lones

D. Subtractthe following.

T 0 BEEPRET 0 BENENLT o IEEPN.T O
6 | 4 5|9 7 | 2 4 |5
-1 2|6 -1 316 -1 2|6 -1 2|5

E. Subtractand checkthe answer.
1. 43-27 2. 83-56 3. 93-66

F. 62studentsareintheclassroom. 36 are girls. How many are boys?

G. Thereare58rose plantsinthe park.39 plants have red roses. How many
plants do not have red roses?

~
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Rama bought 1 dozen bananas. 7 bananas of them she ate on the way.
How many bananas are left with Rama now ?

Materials Required

regrouping.

a : b Objective : To understand 2-digit subtraction with
%ﬂwty
I ~~—

W

pieces of 1 x1toshow onesand children’s scissors

Activities:

R/
0‘0

Students workin pairs and draw with chalk a tens and ones grid.
Tosolve43-27: Tens  Ones

One student places 4 tens and 3 ones on the correct place in E
the grid.

The students observe that there are not enough ones, so the

other student picks one strip of ten and cutsitinto 10 ones.

The first student then keeps all the ones in the ones place.
Therearenow 3tensand 13 ones. Tens

o
=
o
7]

ogg
+»  Thesecondstudent now takes away 7 ones from 13 ones and 2 HHH
tens from the 3 tens. "

The numberthatis leftisthe answer.

Record the Activity :

Tens Ones
43-27=" ood
000

6—

4tens 3 ones = 3tensl3ones
3tens 13 ones
— 2tens 7 ones

lten 6 ones

Try thisout:
56-38=" 24-18="7 82-45="7

Square lined paper cut into strips of 10 x 1 to show tens,

Tens Ones
EEnannp {nsan

~
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